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Before answering the questions, ensure that you have been supplied the
correct and complete question-paper, no claim in this regard, will be
entertained after examination.

qe . () T ge7 S &
All questions are compulsory.
(i) 97 F&r 1 § 1-1 S# % Fhae (i-xvi) TGS THX % J97 81 797 (i) &
(viii) TF 9% F FTT QF I7 & I 7 T § G 597 (ix) @ (xii) T
@ AT gy, @&l (G T (srgaa) & A 59T (xii) @ (i) 7%
gglawedid J97 81 [T T [l H & @@ I g

Question No. 1 consists of sixteen (i-xvi) objective type questions,
each of 1 mark. The answer of each question from (i) to (viii) may be
given in one or two words or sentences. Give the answer of the
questions from (ix) to (xii) in Yes/No, Right/Wrong. Questions from
(xiii) to (xvi) are multiple choice questions. Choose the correct
answer from given options.

(iii) F97 @& 2 & 13 TF & J97 2 oFH & 81 JoF J97 F FIT TTHT 25 @ 50
= 7 dorq

Question Nos. 2 to 13 are of 2 marks each. Answer each in about 25
to 50 words.

(iv) 597 &7 14 @ 19 TF & J97 4 OB 3 &1 J0F F97 & FF¢ TTIT 75
& 125 9= 7 dfomm

Question Nos. 14 to 19 are of 4 marks each. Answer each in about
75 to 125 words.

(v) T97 T 20 TF 21 Jh% 8 S7F # & F% 97 & FIT TTHT 150 &
200 /@ 7

Question Nos. 20 and 21 are of 8 marks each. Answer each in
about 150 to 200 words.

(i) oTF FHE T @ FIH F SNARE FI7 JAT A T & 07 weA § @
STTTHE BT TF & F97 B &1

Internal choice has been provided in two questions of eight marks
each. You have to attempt only one of the given choice in such
questions.

(vii) FTT TR T Jo7 % STJEA &7 e
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Answers should be precise and to the point.

1. () ‘G AN & qe e e ? 1

Who supported 'Open Trade System' ?

(i) ‘T Io¥ % AT’ fra fhaent B 7 1
Whose book is 'The Wealth of Nations' ?

(ili) “FETOr ST B TH A AR 1
Give an advantage of 'Survey' method.

(iv) ‘TE-T H Th I AT 1
Give an example of 'Nation-State'.

(v) ‘OTERR UBI H TF @ g 1

Give an advantage of 'interview method'.
(vi) ‘eEF-Tae 9W ¥ e g @ g R aer W@ 8 © ?
The special Rage 'Times-Ascent' belongs to which 'News-paper' ?
(vii) ‘ARG MRAE Re™ ARA-THa | ‘98 [Gde’ H gd & 6w gwid e
g fepar ? 1

Who introduce the bill against 'Polygamy' in 'All India Muslim

Mahila-Sammelan' ?

(viii) ‘DT GEid’ H T @ R 1
Give an advantage of 'Observation method'.

(ix) ‘STEYIAT H ARIT ARAD TS AN ST B (S s7gaa) 1
It is wrong to consider 'untouchability' as an All India Phenomenon.

( Right/ Wrong)

(x) ‘fFl SUMAYERE FEeERl SEEr W SERd el

(S ST 1

The 'British Colonialism' was based on socialist system.
(Right/ Wrong)
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(xi) “CIFT TXHR B STURON e o B B A o (&Y TTT) 1

'The Local-self Govt." system was not liked by 'Gandhi ji'
(Right/ Wrong)
(xii) ‘AT SEEr & o o ‘B Siifaen B AET G W@l (@@ 7o) 1
The 'Agriculture’ has not been a means of livelihood for 'Rural-

society' these days.

(Right/ Wrong)
(xiii) ‘TS e Yol P e e & Rt e mn s 7 1
(1) 2 (@) 3
(|) 4 (®) 5
In how many types the social-resources have been divided ?
(@) 2 (b) 3
() 4 d 35
(xiv) 379 | -8 ‘A Aoar o9y ‘SR’ & @R W e 7 1
(1) afera (3) onfeard
(w) wfeamd () @i

Who among the following have been the victim of 'Social inequality'
and 'Exclusion' ?

(a) Dalit (b) Adivasi
(c) Women (d) Al
(xv) =1 & € 0 dele & 9 Afeanstl &l avad § Faiaer fem 21
(s1) 733 (@) 743
(@) 754 (&) 76d

Which of the following Amendment provided women right to vote ?
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(@) 73rd (b) 74th
() 75th (d) 76th
(xvi) ‘i 3fe’ & 9Ra A Togall’ & EEI & ;1
(31) 75% (@) 78.5%
(|) 80.5% (&) 82.5%
The 'Population’ of 'Hindus' in India is :
(@ 75% (b) 78.5%
(c) 80.5% (d) 82.5%
2. ‘G B ? 2
What is 'Mortality-rate' ?
3. ‘BEE F1 T ? 2
What is 'Regionalism' ?
4. ‘THHT H M A T 7 2
What is the meaning of 'Integration' ?
5. ‘AR e 7 2
What is 'Interview' ?
6. ‘fafvas w7 & ? 2
What is 'Disinvestment' ?
7. a9 & HA G AR 2
Write the Varnas in order.
8. ‘Yeor F B ? 2
What is 'Observation' ?
9. ‘SRl 1 & ? 2
What is 'Industrialization’' ?
10. ‘GUNEE! AMIeTh A= F1 & ? 2

What is 'Reformist Social Movement' ?
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‘G feRuefier 4 8§ 7 2

What is 'Secularization' ?

g & AR § T O B &0 Y g s R § 7 2

How many 'States and Union Territories' are there in India at present ?
‘GREUS’ & TG F ©Y § WO F GS FA1 HROT oA 7 2

What was the reason behind the existence of 'Jharkhand' as a new
State ?

qRE T R ER == i 4

Discuss in brief about 'Westernization'.

AR AR AT & Tl H ST a4

Give information on the relations between Globalization and Media.
‘TEHT AR == i 4

Discuss in brief about 'Liberalization'.

SISIE’ SARI & 9] G&Y § SamEy 4

Discuss in brief about '"Tribal' movement.

SIRECES T BCE IR BN el 4

Write some characteristics of caste-system.

fopam T ? 4

Which provisions of reservations were included to help the 'Scheduled
caste and Tribes' ?
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20. ‘SHifRH’ & T FT T ¢ ¢ T T W THS Sy 8
What do you understand by 'Demography’ ? Throw light on its
importance.
OR
YT

AT @ © 7 R & PRG 'R | g 9 o ©@ ©

What is 'Sex-ratio' ? What effects are being seen by declination of 'Sex-
ratio' ?

21. ‘GEET 2 ? UEEAl Bl B-HI-G UiEl JeH # B 2 78

What is 'Panchayat’' ? Which powers have been given to 'Panchayats' ?

OR
S7epEr
S & B dere O a9 YR HE H B 7

How does 'Panchayati Raj System' works in 'Tribal' areas ?
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